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Mark each statement as true or false.

. (1 point) Every linear equation is seperable.
(O True @ False

2 (1 point) The function y = e?t solves the equation (y')? = y°
O True @ False :

3. (1 point) If z and y are functions of ¢, then %F(x,y) =0, F-2'+0,F-y.
© True (O False

/4. (1 point) Suppose that y solves the equation y' = ysin(t?) and that
y(0) > 0. Then y(t) > 0 for all ¢ where y is defined.
€ True (O False

57 (1 point) The equation P(z,y)dz +dy = 0 is exact if and only if P(z,y)
depends only on z.
5 True (O False
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(-4 (1 pomt) Which of these functions is an integrating factor for the equa-
tion 3’ — sin(t)y = 2tet?

A. € =t \\‘ — QS (L\ \.\ ¥ Z‘tef ( ) =
""'k ( . .'.’
B. COS(tz) «(&3 = &\Y\(LX e/ == \V\)f. QAL\ 0N
— COs(t ;
<D £c0s(t) | : F\(’\,\ - SO\(O <\'\, = - Lo (“b\ C/— (-coc
. v cat (1)
\< (1 point) Assume the function y(x) solves ' ?_xQ = 00:3(2:1:) with
Yym)=1. VVhat is y(3)7 \" = -2 L €t e\ : 2\
3 .— x\\ -—*(x\:’lx\\-&xx\
X "% el = \
" =
- Q. %+4 A&}:Yt\(f‘,c\%“ -Z.LV\(Y) A(\\\() jc?—ﬂ(\;\é\
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/ 8. (1 point) Assume the function y(z) solves ry = (14222 )y with y(\i\) _1 %) N
What is y(2)? ( ) L C -
\ s 1 p 4 W\ ¥
A. 2¢ J \{ JC * B ’ i \\‘.:‘2.
B. —2¢8 \ et
/J‘f\(\o = J/v\(»t\ A A C.\/'\(Y\Bo
C. In(2)+4+ ¢! / 2
X q et C e
€ =2 .
g/ - Axe \ - AN e o G
e ok 2 (1 point) Assume the function y(z) solves 1’ + y = 2% with ] N
% 0) = r &
1 \\ y(0) = 0. What is y(1)? -
3 e can(M/2)
"\"G\(%\ '62(6_1 “ 1'
— -2 \. —
C. 2e72 4 2¢71 —
TJ,/ \() N -~ "-"'"L
f-(\Jl e < Q q C ‘ D. No such function y exists. |
(}( A ﬁ\ (1 pomt ) Assume the funct; I % A
k\ \1 \1 What o y(l Uurnction y( ) SOIVGS yy = 4 (0 + 1 Wlth ’U(O) e
= 2
Y& "SQ(ZQ ’)o\y (g 2+\/" 1)
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(12_. =< S Z c, dx B. /5 +4 2
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M. (2 points) Which of the following equations defines an implicit solution )
to the differential equation 3 = — -
r+y (.)y - i)

A. 1’3+y2=rc

B. zy° = C \“(x\ \D < \\ P’-KV\C\\( 4 (k(‘*\)
C Jrgyz:(,‘

cry=e { = \\\L \ (x)(,o
D 2iv=c) Py =0 gFea
(V\X AX . (\L ~\,\\c\x\ 7 ) J\(\(mx (“\)(‘\)3 SANE | \\

v
12. (3 points) Assume the function y(z) solves satisfics the equation

2
L p (/‘; Y -\ > .\
(ﬁ + 5_) dz + 2v/zdy = 0 with y(1) = 1. What is y(4)? G \\ "\
I ————— e = 2" \\ & \'L»

B~ S\CE, ‘43 = OY &K -
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